5520 HERRAEAXUERS

e LR

2014/11/09 14:2

929'3 Page: 1

2014511898 (B) RFE—EXR
FEETHRE RIS 101013
15 [ Bt 142 4t 511 74 8
100m 11/9|FE = 11.50/-0.4 /&K %% 11.54/-0.4 11.65/-0.4 =2 BA 11.71/-0.6| 4 =z 11.73/-0.6| B #a3F 11.97/0.6| LR A# 12.12/-0. 6| NER=% 12.29/-0.6
— Ei e AE Bk s ef gk
£ |1500m 11/9 (&l M2 4:12. 44| KB AN 4:14. 40 4:18. 15| FA BX 4:20.62|FB EF 4:21. 73| Bl =R 4:25.54| B8 =EE 4:25. 12|%2 ERE 4:27.79
AH R Bl B i HEY BE
FENE B 11/9 Lt R ERE 6m00/+0. 5| JII4+ FASA 5m87/+0. 7 5m79/+0. 4| #E  KRIA 5m76/ 0.3| 2% HE 5m74/+0.0|=FE E4X£ 5m69/-0.0|/NEE HMEH 5m65/+0. 6| FAR TJHth 5m46/-0. 0
R AH A i Bl #EY Bl
200m 11/9 |5H BEEH 22.23/+0.1 £ B4E 22.58/+0.1|F 22.78/+0.3 |t JTXR 22.82/+0.3|dLM &KX W% 22.88/+0. 3| JE#E EAR 23.21/40.1|HAr &= 23.21/40.1
B PR il N 23 S8 22.88/+0. 1| & BitE
5m70q 1500m 11/9 [k =®A 411.97| Il KA 412,67 413, 46| e R KA 476, 48| 7k = 416,87 Ak B 418,05 5% A 41874 BE =A 4.20.81
ST & R fEik HEY el B FF
ARk 11/9 |8 * 15m04 | A B2 14mo4 1an07| &K — EAL R omi9| &K BE 6| =@ 5 ]
(5. 443kg) R e HEY BE A BHE gk
) 11/9 [l Bt 1n95 | #RE A 1n90 no0| % BE 1n85| RS AF 80| KK BE n80|# Fnit WA 75
= Fais AR HEY fEH HEEA N
100m 11/9 [FI# =K 11.19/40.6 | =48 &= 11.94/+0.6 12.06/+0.6 ;IR &= 12.19/+0.6 | BBk ME4D 12.55/+0.6|1LE IF& 12.65/40.6| @it & 12.78/+0.6| X8 &= 13.15/40.6
GEE R fEH AE B Bt A 1
B/ |1500m 11/9 |HA Rl 4:20.39|h¥t XE 4:21.32 4:28.52|FE HRE 4:31.18|4tm = 4:32.53| 28 HE 4:33. 82| #E FR 4:31.19|8F FH 4:41.05
BiiE B BE 1R Bl AE ep
FiaHk T1/9 [FEETE (m32/-0. 9| BE EF 6m01/-0.8 550/-0.2|EE B2 n35/-0.2| FE K# Bmi7/-1.2|WE W% 4n65/-0.7
o B s 0 fEik
a9 10 0m 11/9 [ 1hH =% 12.20/-0.4|fe &M 12.25/+0.0 12.48/-0.4| BB #i— 12.71/-0.4| B Bl B 12.83/-0. 4| X% & 12.94/+0.0[ &M BE 13.06/40.0
Zr )1l 8EHh AE E o e 12. 83/+0.0| %o =
1500m 11/9 [RER 431,96 FE ahz 43864 44085 BE EE 10203 % G 454 01O 84 4:56. 25| K)Il BR 456,69 % = 451,48
Fais BiE BE B il s s
WEF Rk 11/9 |[5R =# 12md9 | ¥ - 11m24 10m71 |FE&R A48 10m70| £F EA 10m34 | KB = 10m20 | 8R%F =3 Im74|EE RiE 8m22
30-405% | (5, 443ke) #EY AR B4 Pl B B fEH
T B 50 1500m 11/9 |[#3% &8 4:39.90| EM #£%x 4:48. 91 4:56. 39| h0fE &S 4:57.06| &FT %& 5:03. 81|k HiE 5:09.55|3%M@ Fif 5:44. 20| FFE E= 5:54.50
HoE AH = B el BiiE Il #EY
ARE 11/9 |[B5% &= omis[ &R @ omii omo9 | 4RIl mE eI b7 | RS T E o2 BE BE 6| Al B3 na3
(5. 443kg) e HEY 1] BitE S i Es
4%x100m 11/9 [Feish 50, 52 | Birt& 52.31 54. 55| KB 55. 06| BT 55. 90| BT 56, 02| ;@@ 56. 65| BE ™ 56. 95
RN L] £m Ht XE  HAR BH X wE W 2% WE BB RE
FE FE (2 A EA KB TH Bl AH BE B Ki AENE B %
5% B RA B miE fEH o fEE NE R T - TR |
AEBER BA A mE BE NE E BiE = E® 2 Ak BB
4%x100m 11/9 |mim 45, 35| BT 45, 99| 46, 44| FEHATH 46. 73 | BkET 47.01 | R 47, 13 WES 48. 05| B h 18.22
MmHFH oMz EK OEE IMERER B —1F R’E B BEERERE BE RZ
& I %3 B B BR B RBE T BEA £ X iBiE B
ik EH AR e BE hE ek A5 Hts LM BE FH ER
Rk BE BAEE B RS g Eg A s =8 = BA HE
EEEZTI T 1194 | KE S 107, 52& | ke 8475 | 79,55 | R 6975 | E 67. 555 | B4 58




5520 HERRAEAXUERS

e LR

2014/11/09 14:29:03 Page: 2

201411 A98 (B)

BT LB

RE—ER

101013
Bl BEZ B 1 216 3t 4t 54 61 74 8 fi
100m 119 | HE &AF 12.28/0.1| 2% Bt 12.55/-0.1|E/@ %= 12.75/0.1|@ft A® 12.93/0.1|84 Ex 13.07/-0. 1
mET tEE FIIR = EE e
Z4 [1500m /9 [¥8 mzlE 114 58|15 W= 12183 X% IR 4:24 16| %R $51E 4:28 82 5KF B 4:45. 54
FIR & &K EES =K
R 11/9 k% B 5n78/-0.4| 2E B 5m70/+0. 3| B 5m63/-0.3| MR 15k 5nA8/-0. 8| RAE BHE 5mid4/+0.0| ke ZER n77/+0.0
S BE FIiR & B tEE
200m R 23.08/+0. 8|1RE B 23.64/+0. 8Bk Rk 23.95/+0.8
= B LEE
mpEpg 1500m /9 %Il 15 410 18| X1 BE 420 50| 2% BN 420 89[EN BA 4:26. 00| XH %% 4:30,04
ST =E FIIR i paid EES
Em /9 e w 0|1 =— m65
B =
AR 11/9 &K & 10n%5 | KAR AE 10n87| 8@ AR a0 EF Rt 866
(5. 443kg) £ B EE FIiR
100m 11/9 /Ml 2@ 12.46/+0.0| /M 27 12.81/+0.0| B &t 14.34/+0.0
BEFI HiR B &2
Zi [1500m 11/9 Bk = 421 20| BHE St LA 51T BE 442 37| FE BE 4:48.38
By FIIR B =
D /9 Bl = 5n04/-0. 4| # 3k 4n63/-0. 3[R 3h 2m92/-0.2
EE FIIR =z
BEF [fani 1/9 i —%& 8m96|/NEF  FOF Tm26
30403 (5 4a3ke) =z FIiR
sm740 100m 11/9 [4iE #MK 14.03/+0. 3%kl = 14.03/+0. 3|k fe— 14.80/+0.3
wmr FIR iR &
1500m /9 [&E =— 112.67|F HE 455 02|k B 5:05 17|l & 5:28. 90
£ FIIR = =E
#mHF50 18500m 1/9[E® ==3 5:00 49[#E EA 517.00 %@ & 5:21. 09 BchE B 5:28.82
R & FIR =K &K
AR /9 27 = m27 [ HBEO EA o8| B BRE onld| @4 AH 8mo1
(5. 443kg) = B EES IR
4%x100m 11/9 |2 57,56 LB B2 57. 90| &% 57. 96| £ &0 1:03. 36| BZ 54. 02
BTN Ak K i mE HIF § 8% Hl % op
FE B RR e EE N BR It HE )
RE K3 L3 B BEH ®EH = g BE
A {RAHS #E KR e —# B ARE #E
4%X100m 11/9 | BEE 48.04| BEEH 50. 92
N Bt KE ETE B
& BE B BiE
AH EE mEE =
AL B 25 fEh
HETRA EZ 1425 2% 1235 | 7R 1158 & N BE[LEE 3A




5520 HERRAEAXUERS

e LR

BT LB

2014/11/09 14:29:03 Page: 3

201411 A98 (B)

RE—ER

101013
R BE4 Bt 143 21 afr 4tz 51 61 74 81
100m 1/9 |28 2y 12.84/+0. 4| B F1& 13.06/+0.0|F:Z 1E7E 13.09/+0. 4| X EE 13.46/+0.0| Al 2% 13.47/+0.4| %% 1t5 13.55/40.0| A 1R5E =4 13.72/+0. 4| R #F 13.76/+0. 4
R T =1 pN:: Bl "E BitE 4 HEY e
£ |800m 1/9 |BR +ti8 2:20.53 |3 BE 2:23. 00| T HHEE 2:23.66| ZR EE 2:23.86| A A 2:29.3|@mA EF 2:29. 9| /A BE 2:32. 48| FEAX EF 2:33.69
B i KH 35 P "E BitE HEY
FEMRH 11/9 |BEB & 5m62/+0. 0| 3R £ 4m81/+0.2|EFH BUVA Am55/+0. 3| Mtk FiE 4nd7/+0.0| BB =N 4md2/+0.5|8 8K & 4m36/+0. 0| FIE HF|F 4n27/-0.0| BT #E 4m21/-0.6
B R HEY I 35 "E BitE =1
200m 11/9 |38 & 26.83/-0.0|B8 O T 27.07/+0.0| Kig FEF 27.19/-0.0|%FT #x 27.26/+0.0| R#t H%E 27.40/-0. 0| BETH & EFIE 21.49/-0.0| £ E* 28.41/-0.0| =R B% 28.49/+0.0
M&F2 e Mg KH "E i+ i =R Balll
HUT | =k /9 |5# #E G5 £k EW THEEZ md5 [ Fr e md5[/K  Havia T ERTRE 40| &K ®m& 0| HE RZ 1m35
=1 =i p:: el HEY "E 4 iR
R 11/9 [ 10m21 | A% ZEB om34|BE EA om0 [1EH EZ omi4|#IL AR 9m06 | ;K E T BE 8mB6 | #EIL = 8mb2[IiA 1A% 8m02
(4. 000kg) AH HE HitE =R HEY el 4 BHE
#gaq 100m /9 [&m & & 14.25/40.2| 88 % 14.40/+0.2| 2@ =¥ 14.49/+0.0| 2% Z#& 15.05/+0.2| =18 B= 15.28/+0.0|#E &k 15.81/40.0[IUA T 15.89/+0.0
B FiE BE AR KH "E ] Eii fEH BE
kR 11/9 |EEREER B 10m38 | EHEAD & 9m60 | FH FrpH 819 |tkR HEFEER 8mi9|IEH A% m58 | HIE B 6mo0 (AKX HEFER 6md2| Tl {EEIA 5m66
(4. 000kg) i R BE =1 KH B "E 35
M&ZFH 1500m 11/9 |88 %1 4:40.66| 2% FiF 4:42.69|MBLEET 4:46.67|% BE 4:49. 23| AR ERE 4:50. 75|84k  FIx 4:51. 30| tkfE =% 458 95|k RETF 5:07.35
RELLE e el B4 AR B i = B
4x100m 11/9 | EeEm 55, 33| BT 56. 68| HiFE™ 57,01 | I 57, 83|fEm 50, 18| & 59, 86| FER 1:00. 50 ;BE ™ 1:00. 50
HEw EK sk g fx A B ®iE WE B ik hiE BE B REE & %A
FE bz BE o WE 23 BH LR AL AT xE FE 2 W TR
# ® MR BEE Wi TR B At INE T XE BE BiE EE IR kB
EHECOH REHEE tB & RE BT WA B B I BHA s S
4x100m 11/9 | KEH 51, 90| BifEm 52,32 | &M 53, 06| )11 54, 53| BT 54, 61| EEHATH 55, 27| EREH 56. 38| FAE T 58. 74
IESEN Bt T ML B PIIE-=) g IETE R EH FIR BAE BF E #k EW
& Al =RT FR R HT = =B BE ETE HETE KA HE tn B WA A5
$£m kS HE %5 AH EH M BTF NRDEE M EE R ER BE hii
By = Fis B EE IV EE =H T &1 WE S# iz BEE WA kETF
mRTEA = T8 | AE EEE 755 | BiTE 6675 | = 6355 [l 4955 | R DE[ER 3BA
100m 11/9 | Wes #F 13.94/+0.5| MiE It 13.95/+0.5 B8 Bt 14.00/+0.5| =& % 14.06/+0.5| ¥ =& 14.59/+0.5(18 RE#E 15.41/+0.5
P, =E FIiR =ES B 1 LEE
i (800m /9 |@s X 2:25. 46|33 2:28 93|FF EB= 2:29. 26| EB R 2:30. 36|85 == 2:41. 72| BB W 2:46.07
BE LBE 1 =S FliR HE
FEMRHE 11/9 | &% 4m67/+0. 8| EfE RATE 4md6/+0.6 |[fE2 KR FRKR 3m95/+0. 1|EE =k m87/+0.6|Hig 2= 3m34/+0.7
BE FIiR 1 =S tEE
200m 1/9 | PR BE 26.99/-0.2|#1F BRAE 21.711/-0.2| =8 F3 271.91/-0.2| ¥4 ®E=E 29.13/-0.2 |fRiF FH5 30.40/-0.2
B4 F2 i LBE =S B FliR
HUT | =Bk 1/9|&%x MM 65| EF AR - md0
=E EES 1
R 1/9|WwH &= em27 [ BRE IHEEEEES 5m38
(4. 000kg) =E FIiR BE
spzgaq 100m 1/9|#E BF 14.49/+0.0|uE =& 17.23/+0.0| 8% FHRF 17.25/+0.0
Ll BE HE FliR
A 11/9 [EE #F 10m09 |HhE & 5| EE EEF 4m86
(4. 000kg) EE HE FliR
EE?C%E 1500m 11/9 /ML 0% 5:05. 13| BB E'S 5:15. 88|t #2F 5:52. 46 |=E H=E 6:54. 34
RELLE BZ B EE R
4x100m 11/9 | ZE% 57, 45| {E %R 1:00. 90| BEFR 1:02.07
e IR Rt Bl ®WF HE X6
FE Wi & =5 BT wE feh
HE 5 e BN e
tE @ wh hs hE #A
4%x100m 11/9 | BZA 55. 36 | FIARED 59. 31
AR F =t nEE R
& *8 mH BA =2
EHE W= BRI T
BE BT BAR FRT
BETEA E3 1075| 2% 6455 | FIAR 6355 |E] 565 | HE 05| LEE 3R




